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QUESTION 1
You are developing a web application.

You need to create the following graphic by using Cascading Style Sheets (CSS):

Use the drop-down menus to select the answer choice that completes each statement. Each correct selection is worth
one point.

Hot Area:

Answer Area

For the €55 Style background- =
image, you should use the value linear-gradientio top, green, blacki
[answer choice] linear-gradientfo bottom, green, blacki:
radial-grach entijreen, blacky
repaating-linear gradientigreen. blacki;
For the CSS Style border-radius, you v
should use the value [answer choice] iopx
10psx, 10px, 10p:
Inlerit:
initial;
Hot Area:
Answer Area
For the €55 Style beckground- =
image, you should use the value linear-gradientia top, green, black)
[answer choice] linear-gradientto bottom, green, blacki;
radial-graclientiyresn, blacky
repaating-linear gradientigraen. blzcks;
For the CSS Style border-radius, you v
shaould use the value [answer cholee] 1opx 5
10px, 10px, 10p:;
inherit;
initial:

Correct Answer:
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Answer Area
For the €55 Style background- | =
image, you should use the value eaT-aradientin tap, Green, DIstd
[answer choice] linear-gradientto bottom, green, blacki:
radial-gradientiyreen, blacky
repaating-linear gradientigreen. black
For the CSS Style border-radius, you v
should use the value [answer choice] T _
10px, 10px, 10p:
Inherit;
inial;
QUESTION 2

Which of the following must exist to inherit attributes from a particular class?

A. Public properties

B. A has-a relationship

C. Static members

D. An is-a relationship

Correct Answer: D

Visual Basic has been a pioneer of binary code reuse -- controls being the classic example. You reuse the code in a

control by placing an instance of the control on your form. This is known as a containment relationship or a has-
arelationship; that is, the form contains or has a CommandButton.

QUESTION 3

You create an object of type ANumber. The class is defined as follows.
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public Class ANumbery
private int number = 7;
public ANumber ()

public ANumber {(int number)

gl

The code is executed as follows.

ANumber mynumber = naw ANumber (3):

What is the value of _number after the code is executed?
A. Null

B.0

C.3

D.7

Correct Answer: C

QUESTION 4

The elements of an array must be accessed by:

A. Calling the item that was most recently inserted into the array.
B. Calling the last item in the memory array.

C. Using an integer index.

D. Using a first-in, last-out (FILO) process.

Correct Answer: C

QUESTION 5

You plan to create an application for your company. The application will run automated routines and write the results to
a text-based log file. Little or no user interaction is required.

Security requirements on the host computers prevent you from running applications on startup, and users must be able
to see the status easily on the screen. The host computers also have limited memory and monitors that display only two
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colors. These computers will have no network connectivity. Which type of application should you use for this
environment?

A. Windows Store app
B. console-based

C. DirectX

D. Windows Service

Correct Answer: A
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